	A
	4+3+6 =  …
	
	A
	4+3+6 =  …
	
	A
	4+3+6 =  …
	
	A
	4+3+6 =  …

	B
	33 + 45 =  …
	
	B
	33 + 45 =  …
	
	B
	33 + 45 =  …
	
	B
	33 + 45 =  …

	C
	7+8+3=   …
	
	C
	7+8+3=   …
	
	C
	7+8+3=   …
	
	C
	7+8+3=   …

	D
	78 + … = 120
	
	D
	78 + … = 120
	
	D
	78 + … = 120
	
	D
	78 + … = 120

	E
	5+9+2+3 = …
	
	E
	5+9+2+3 = …
	
	E
	5+9+2+3 = …
	
	E
	5+9+2+3 = …

	F
	80+20= …
	
	F
	80+20= …
	
	F
	80+20= …
	
	F
	80+20= …

	G
	1+9+5+0+3 = …
	
	G
	1+9+5+0+3 = …
	
	G
	1+9+5+0+3 = …
	
	G
	1+9+5+0+3 = …

	H
	28 + … = 30
	
	H
	28 + … = 30
	
	H
	28 + … = 30
	
	H
	28 + … = 30

	I
	169 + 1 = …
	
	I
	169 + 1 = …
	
	I
	169 + 1 = …
	
	I
	169 + 1 = …

	J
	7+8+4 = …
	
	J
	7+8+4 = …
	
	J
	7+8+4 = …
	
	J
	7+8+4 = …

	K
	57 + … = 100
	
	K
	57 + … = 100
	
	K
	57 + … = 100
	
	K
	57 + … = 100

	L
	28 + … = 40
	
	L
	28 + … = 40
	
	L
	28 + … = 40
	
	L
	28 + … = 40

	M
	169 + 30 = …
	
	M
	169 + 30 = …
	
	M
	169 + 30 = …
	
	M
	169 + 30 = …

	N
	8+2+5 = …
	
	N
	8+2+5 = …
	
	N
	8+2+5 = …
	
	N
	8+2+5 = …

	O
	169 + … = 200
	
	O
	169 + … = 200
	
	O
	169 + … = 200
	
	O
	169 + … = 200

	P
	28 + … = 50
	
	P
	28 + … = 50
	
	P
	28 + … = 50
	
	P
	28 + … = 50

	Q
	80+ … = 100
	
	Q
	80+ … = 100
	
	Q
	80+ … = 100
	
	Q
	80+ … = 100

	R
	69 + … = 100
	
	R
	69 + … = 100
	
	R
	69 + … = 100
	
	R
	69 + … = 100

	S
	80 + 20 + 57 = …
	
	S
	80 + 20 + 57 = …
	
	S
	80 + 20 + 57 = …
	
	S
	80 + 20 + 57 = …

	T
	200 – 120 = …
	
	T
	200 – 120 = …
	
	T
	200 – 120 = …
	
	T
	200 – 120 = …

	U
	169 – 50 = …
	
	U
	169 – 50 = …
	
	U
	169 – 50 = …
	
	U
	169 – 50 = …

	V
	88 – 28 = …
	
	V
	88 – 28 = …
	
	V
	88 – 28 = …
	
	V
	88 – 28 = …

	W
	57-28 = …
	
	W
	57-28 = …
	
	W
	57-28 = …
	
	W
	57-28 = …

	X
	84 + 20 – 7 = …
	
	X
	84 + 20 – 7 = …
	
	X
	84 + 20 – 7 = …
	
	X
	84 + 20 – 7 = …

	Y
	57 – 30 + 3 = …
	
	Y
	57 – 30 + 3 = …
	
	Y
	57 – 30 + 3 = …
	
	Y
	57 – 30 + 3 = …

	Z
	200 – 57 = …
	
	Z
	200 – 57 = …
	
	Z
	200 – 57 = …
	
	Z
	200 – 57 = …

	A
	4+3+6 =  13

	B
	33 + 45 =  78

	C
	7+8+3=   18

	D
	78 + 42 = 120

	E
	5+9+2+3 = 19

	F
	80+20= 100

	G
	1+9+5+0+3 = 18

	H
	28 + 2 = 30

	I
	169 + 1 = 170

	J
	7+8+4 = 19

	K
	57 + 43 = 100

	L
	28 + 12 = 40

	M
	169 + 30 = 199

	N
	8+2+5 = 15

	O
	169 + 31 = 200

	P
	28 + 22 = 50

	Q
	80+ 20 = 100

	R
	69 + 31 = 100

	S
	80 + 20 + 57 = 157

	T
	200 – 120 = 80

	U
	169 – 50 = 119

	V
	88 – 28 = 60

	W
	57-28 = 29

	X
	84 + 20 – 7 = 97

	Y
	57 – 30 + 3 = 30

	Z
	200 – 57 = 143




